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RECIPE

Toppings for each cake:

3 bowl of marshmallows
1 bowl of peanuts

4 bag of chocolate swirls

.

Marshmallow® -
u'
a) There are 30 marshmallows in a bowl.

How many marshmallows are used on | cake?

b) There are 45 chocolate swirls in a bag.

How many chocolate swirls are used on | cake? |
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I used counters to
represent marshmallows.

a) There are 30 marshmallows in a N
bowl. % of a bowl of marshmallows cﬁo% -
are used on | cake. —= /

I shared the counters between
the number of parts equally.

< >
OOO0OOO0O0OO0OO0OOO0OOOOOOOOOOOOOOO0O

30 marshmallows

3

@occccccee

1 means the number of
objects in | of the 3 parts.

1 of 30 is 10.
10 marshmallows are used on | cake.
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Task 1
1)

Dexter has used a bar model and counters to find %of 12
CoOPo 0P 0P 9
Use Dexter’'s method to calculate:
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A school buys 36 new books.
Each class gets ; of the books.

How many books does each
class get?

s+ J=()

$of 36 books =[] books
Each class gets D books.
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1. Draw a bar
= of 12
0BHBEIB 2 Dikl th b byt

denominator (the number at
the bottom on the fraction)

3. Divide the counters in equal
groups

1.f18 EEE 4. The answer will be the
3 number of counters in one of
the parts
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A school buys 36 new books.
Each class gets ; of the books.

How many books does each
class get?

wo(20-0)  Lololelelels.

¢ of 36 books = @ books
Each class gets @ books.
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